T arkscheme
@ a) i) Decomposers.

i) 6\/:/7 organism would be connected fo them via death /waste.
b) Thete are no arrows painting fo ihem - they are lhe start /basc of all choins and webs
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9) 9 food chains:

grass —> squircel —> fox gross —> bird —> spnake —> fox
3rass —> chipmunK —> fox 3rass —> chipmun K —> Spake —> hawk
grass —> bird —> fox gross —>  beetle —> bird —> gpake —> hawk

3rass —> Ca’mpi”ar‘ —> bird —> fox

grass —> catupillar —> bird —> Spake —> hawk
gross —>  beetle —> bird —> fox

&)  grass —> bird —> gsnake —> fox

Srass —> beetle —> bird —>1’-'ox
Z.°Con5umer

3° consomer

3rass —> S?uif{CL —> fox Srass —>  bird

—> snake —> fox
3° consumer

Y ° consomer

gross —> chipmun K —> Snake —>hawk gross —>  beetle —> bird —> gnake —> (hawk

4 © consomer 5° consumer

@ o) tmany possible answers. Nolice that {ood chains in ae,uah'c Syskms }end 4o be Iangtr.

b) many poss;ble answers.

@ phytoplanKton —> sallops —> stingrays —> shick Normally Sharks prey vpon stingrays and contcol 1heic numbers.

Withovt Sharks, stingroy population increases and they
‘J/‘J/ (onsume more  Scallops redua‘nj their numbers

% thiS (S a common. ovtcome if apex P(edadors are redueed /eliminated and how ecoSyskms can collapse

Hcrbivorcs consume producers directly, 1hus they recieve more ener as less has been lost - allows for many herbivaces o thrive
P Y 3) 3y p4

However, carnjvores cat othesr consumers which have less ¢nerqy available lin\ih'nj how many success foul predators an ecosystem
can suppa/(:

@ Meat /muscle is moth casier fo d{gesl: {han vegetation due fo ils h.’gh protein and lean composidion. V(ge{a}ian is veey €ibrous
So mare difficult fo break down physically and ChCMECaIU.

@ A) grass —> grasshopper —> dregoafly —> guoll
AN
b) fox /’ the insect papula{:im ( grass hoppers and dra\JmﬂffS‘) will decline due o increased

Preéa(zim feom {he fox. The fox, as i] has a wider diet than the quoll  euill
ovt-compete it , cousing quoll numbers 4o decrease.

@ % energy dransferred = energy transferred to 1°consumer o /00
net  production of plants
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